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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], ['T", "Topt’], ['RH", "RHopt’], [ ETcl’, ’optETcl’], 'LAl’, ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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08:35 327 160.0 0.314 ] 1B2i%@08:35 B3zh (FKAEREEE)
09:45 327 160.0 0.314 ] BRi%@09:45 B3h (REERE)
10:35 327 160.0 0.314 1] BRi%@10:35 Bzh (REERESE)
11:20 327 160.0 0.314 A BRi%@11:20 B3h (KRAHERESE)
12:05 327 160.0 0.314 Uz BRi%e12:05 Bz (REERSE)
12:50 327 160.0 0.314 ] BRi%e12:50 Bz (REERESE)
13:35 327 160.0 0.314 A Bi&@13:35 B3 (KRAHERESE)
14:25 327 160.0 0.314 3] Bi%e14:25 B3 (GREERSE)
15:20 327 160.0 0.314 FR| $hiTHe15:20 Bz (REEHE
16:20 327 160.0 0.314 A B18@16:20 B3h (KRBERKSE)
2it]3924.0 (12)%) 1920.0 3ZHKEC: 2080.0, PH: 5.5

HREFIRRA (0.93) , FEE

MEREHER 2 STHIE RS (301.0 : 164.0), AIRE/KREERE
BRIASERRIERL164. 0 ml.

#[EKECE (2180.0 vs 3902.0) 5

LRGERIEC (2414.0) 5RBIEY (2080.0) REK K, BHHRE.
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:15 327 160.0 0.314 F BRige07:15 Bz (GRAERESE)
07:55 327 160.0 0.314 S| {Rig@07:55 B (RAERSE)
08:55 327 160. 0 0.314 E  1BRi&e08:55 BE1 (RAERE)
09:40 327 160.0 0.314 [Z=| 1BRi%e09:40 Bzh (REERSE)
10:15 327 160.0 0.314 [Z=| 1BRige10:15 Bzh (REERESE)
10:50 327 160. 0 0.314 |Z x| 1BRi&e10:50 Bzl (RAERESE)
11:25 327 160.0 0.314 |Z=| 1Ri%e11:25 Bz CGREERSE)
12:05 327 160.0 0.314 |2 =| 1Ri%e12:05 B (REAZBE)
12:40 327 160.0 0.314 [Z=| BRige12:40 Bzh (REERESE)
13:15 327 160.0 0.314 5| {Ri%e13:15 Bz (GRAERSE)
13:50 327 160.0 0.314 = RRiB013:50 B (RFAEESE)
14:25 327 160. 0 0.314 E BRige14:25 Bz CGRAERESE)
15:05 327 160.0 0.314 El 1BRi&e15:05 Bz GRAEREE)
15:45 327 160.0 0.314 = RRiB015:45 B (RFEAEESE)
16:40 327 160.0 0.314 [Z=| 1BRige16:40 Bzh (REERESE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

EREHTERRA (0.93) , BEE

MEREHER 2 STHAE AR (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

#[EKECE (2180.0 vs 3695.0) 15

ERGEERIPH (6.6) S5iRE(E (5.5) REKK, FHRE.
LRGERIPH (6.6) SHRAVEE (5.5) RERK, FRE.
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